Pre– Calculus  11  Ch 2: Trigonometry                           Name:__________________

Practice Test
1.  Determine the exact values of the sine, cosine, and tangent ratios for each angle.

a) 225° :     sine 225° =                 ,   cos 225° =                ,  tan 225° =
b) 120° :     sine 120° =                 ,   cos 120° =                ,  tan 120° =
c) 330° :     sine 330° =                  ,  cos 330° =                 ,  tan 330° =
d) 135° :     sine 135° =                  ,  cos 135° =                 ,  tan 135° =
2. Match each term with its definition from the choices below.
	reference angle

__________
	   A    a formula that relates the lengths of the sides of a triangle to the sine values of its angles



	exact value

__________
	    B    a value that is not an approximation and may involve a radical



	sine law

_________________
	   C    the final position of the rotating arm of an angle in standard position



	cosine law

____________
	    D    the acute angle formed by the terminal arm and the x-axis



	terminal arm

____________
	    E    an angle whose vertex is at the origin and whose arms are the  x-axis and the terminal arm



	ambiguous case
__________________
	    F    a formula that relates the lengths of the sides of a triangle to the  cosine value of one of its angles



	angle in standard position

__________
	   G    a situation that is open to two or more interpretations



3. Sketch each angle in standard position. State which quadrant the angle terminates

      in and the measure of the reference angle. 

                        a) 200°                   b) 130°                c) 20°               d) 330°
[image: image1.png]Quadrant :

Reference angle :





4. The point Q(-3, 6) is on the terminal arm of an angle, θ.

a) Draw this angle in standard position.

b) Determine the exact distance from the origin to point Q.

c) Determine the exact values for sin θ, cos θ, and tan θ.
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d) Determine the value of θ.
5. A reference angle has a terminal arm that passes through the point P(2, -5). Identify

     the coordinates of a corresponding point on the terminal arm of three angles in

     standard position that have the same reference angle. 
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6. Determine the exact value of the other two primary trigonometric ratios given each  of the following.
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7. Solve for all values of θ, 0° ≤ θ < 360°, given each trigonometric ratio value.
[image: image3.png]a) tan 6 = —1.1918 b) sin 6 = —0.3420 €) cos 6 = 0.3420




8. Does each triangle contain sufficient information for you to determine the unknown  variable using the sine law? Explain why or why not.
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9. Determine the length(s) of the indicated side(s) and the measure(s) of the indicated

       angle(s) in each triangle.
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10. In ∆PQR, ∠P = 63.5°, ∠Q = 51.2°, and r = 6.3 cm. Sketch a diagram and find the

        measures of the unknown sides and angle.
11. Explain why each set of information does not describe a triangle that can be solved.

                a) a = 7, b = 2, c = 4                            b) ∠A = 85°, b = 10, ∠C = 98°

c) a = 12, b = 20, c = 8                        d) ∠A = 65°, ∠B = 82°, ∠C = 35°
12. Would you use the sine law or the cosine law to find each indicated side length?

         Explain your reasoning.
[image: image6.png]b) X

©

4cm

88°
8cm Y




13. Determine the value of the indicated variable.
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14. The 12th hole at a golf course is a 375-yd straightaway par 4. When Darla tees off,

the ball travels 20° to the left of the line from the tee to the hole. The ball stops 240 yd from the tee (point B). Determine how far the ball is from the centre of the hole.

